

Name: Patrick Emeka Obianwiza

Dept. Chemical Engineering

Matr No: 15/sc114/018

$$1) \frac{dy}{dt} + 3y = e^{-2t} \quad \text{at } t=0, y=2$$

$$sY(s) - y(0) + 3Y(s) = \frac{1}{s+2}$$

$$sY(s) - 2 + 3Y(s) = \frac{1}{s+2}$$

$$sY(s) + 3Y(s) = \frac{1}{s+2} + 2$$

$$sY(s)(s+3) = \frac{1}{s+2} + 2$$

$$Y(s) = \frac{1}{(s+2)(s+3)} + \frac{2}{s+3}$$

$$\frac{1}{(s+2)(s+3)} = \frac{A}{s+2} + \frac{B}{s+3}$$

$$1 = A(s+3) + B(s+2)$$

$$\text{when } s = -3$$

$$1 = -B$$

$$B = -1$$

$$\text{when } s = -2$$

$$1 = A$$

$$A = 1$$

$$\frac{1}{(s+2)(s+3)} = \frac{1}{s+2} - \frac{1}{s+3}$$

$$= \mathcal{L}^{-1}\left\{\frac{1}{s+2}\right\} - \mathcal{L}^{-1}\left\{\frac{1}{s+3}\right\} + \mathcal{L}^{-1}\left\{\frac{2}{s+3}\right\}$$

$$= e^{-2t} - e^{-3t} + 2e^{-3t}$$

$$2) \quad 3 \frac{dy}{dt} - 6y = \sin 2t, \text{ given that at } t=0, y=1$$

$$3[sy(s) - y(0)] - 6y(s) = \frac{2}{s^2+4}$$

$$3sy(s) - 3 - 6y(s) = \frac{2}{s^2+4}$$

$$3sy(s) - 6y(s) = \frac{2}{s^2+4} + 3$$

$$3y(s) [s-2] = \frac{2}{s^2+4} + 3$$

$$3y(s) = \frac{2}{(s^2+4)(s-2)} + \frac{3}{(s-2)}$$

$$3y(s) [3s-6] = \frac{2}{s^2+4} + 3$$

$$y(s) (3s-6) = \frac{3s^2+14}{s^2+4}$$

$$y(s) \cancel{(3s-6)} = \frac{3s^2+14}{(s^2+4)(3s-6)}$$

$$\frac{3s^2+14}{(s^2+4)(3s-6)} = \frac{A}{3s-6} + \frac{B}{s^2+4}$$

$$3s^2+14 = A[s^2+4] + B[3s-6]$$

$$A = 3$$

$$4A - 6B = 14$$

$$-6B = 14 - 12$$

$$B = -\frac{1}{2}$$

$$y(s) = \frac{3}{3(s-2)} - \frac{1}{2} [s^2+4]$$

$$= e^{2t} - \frac{1}{6} \sin 2t$$

LS  
of  
SE  
in  
a  
for  
t

$$3) \frac{dy}{dt} - 4y = 8, \text{ given that at } t=0, y=2$$

$$sY(s) - y(0) - 4Y(s) = \frac{8}{s}$$

$$sY(s) - 2 - 4Y(s) = \frac{8}{s}$$

$$sY(s) - 4Y(s) = \frac{8}{s} + 2$$

$$Y(s)[s-4] = \frac{8}{s} + 2$$

$$Y(s) = \frac{2s+8}{s(s-4)}$$

$$\frac{2s+8}{s(s-4)} = \frac{A}{s} + \frac{B}{s-4}$$

$$2s+8 = A(s-4) + Bs$$

$$2(0)+8 = A(0-4)$$

$$A = -2$$

$$2[4]+8 = A(4-4) + B(4)$$

$$B = 4$$

$$\therefore L^{-1} \left[ \frac{-2}{s} + \frac{4}{s-4} \right]$$

$$= -2 + 4e^{4t}$$

$$4) \frac{d^2y}{dt^2} - 2 \frac{dy}{dt} + 5y = e^{2t} \quad \text{at } t=0, y=2, y'=1$$

$$s^2y(s) - sy(0) - y'(0) - 2[sy(s) - y(0)] + 5y(s) = \frac{1}{s-2}$$

$$\frac{s^2y(s) - sy(0) - y'(0) - 2[sy(s) - y(0)] + 5y(s)}{s^2y(s) - sy(0) - y'(0) - 2[sy(s) - y(0)] + 5y(s)} = \frac{1}{s-2}$$

$$s^2y(s) - 2s - 1 - 2(sy(s)) + 4 + 5y(s) = \frac{1}{s-2}$$

$$s^2y(s) - 2s + 1 + 5y(s) = \frac{1}{s-2}$$

$$s^2y(s) + 5y(s) = 2s - 1 + \frac{1}{s-2}$$

$$y(s)$$

$$s^2y(s) - 2s - 1 - 2sy(s) + 4 + 5y(s) = \frac{1}{s-2}$$

$$s^2y(s) - 2sy(s) + 5y(s) = 2s - 3 + \frac{1}{s-2}$$

$$y(s)(s^2 - 2s + 5) = \frac{2s(s-2) - 3(s-2) + 1}{s-2}$$

$$y(s)(s^2 - 2s + 5) = \frac{2s^2 - 4s - 3s + 6 + 1}{s-2}$$

$$y(s)(s^2 - 2s + 5) = \frac{2s^2 - 7s + 7}{s-2}$$

$$y(s) = \frac{2s^2 - 7s + 7}{(s^2 - 2s + 5)(s-2)} = \frac{A}{s-2} + \frac{B}{s^2 - 2s + 5}$$

$$2s^2 - 7s + 7 = A(s^2 - 2s + 5) + B(s-2)$$

$$A = 2$$

$$-2A + B = -7$$

$$B = -7 + 4 = -3$$

$$= \frac{2}{s-2} - \frac{3}{s^2 - 2s + 5}$$

$$s^2 - 2s + 5$$

$$= 2e^{2t} - \frac{1}{3}t \sin 2t$$

$$v) \frac{d^2y}{dt^2} - 6\frac{dy}{dt} + 8y = e^{3t}$$

$$s^2 Y(s) - 5y(0) - y'(0) - 6sY(s) + 6y(0) + 8Y(s) = \frac{1}{s-3}$$

$$[s^2 - 6s + 8]Y(s) + [6 - 5]y(0) - y'(0) = \frac{1}{s-3}$$

$$[s^2 - 6s + 8]Y(s) = \frac{1}{s-3} + 2 = \frac{1+2s-6}{s-3} = \frac{2s-5}{s-3}$$

$$Y(s) = \frac{2s-5}{[s-3][s-2][s-4]} = \frac{A}{s-3} + \frac{B}{s-2} + \frac{C}{s-4}$$

$$2s-5 = A[s-2][s-4] + B[s-3][s-4] + C[s-3][s-2]$$

$$2s-5 = A[s^2-6s+8] + B[s^2-7s+12] + C[s^2-5s+6]$$

$$2(3)-5=1 = A(3-2)(3-4) \Rightarrow A = -1$$

$$2(4)-5=3 = C(4-3)(4-2) \Rightarrow C = \frac{3}{2}$$

$$-6A - 7B - 5C = 2$$

$$= 6(-1) - 7(B) - 5\left(\frac{3}{2}\right) = 2$$

$$-7B = 2 + \frac{15}{2} - 6 = \frac{4+15-12}{2} = \frac{7}{2} \Rightarrow B = -\frac{1}{2}$$

$$L^{-1}\left[\frac{-1}{s-3} - \frac{1}{2(s-2)} + \frac{3}{2(s-4)}\right] = -e^{3t} - \frac{1}{2}e^{2t} + \frac{3}{2}e^{4t}$$